EARAROBREBRT —5 XN—ZXBISH—F 20214E10898 (£) 8mE415H

M C3-17 C3 YS5F%—% (R s | mEwE - |7 @) o0 e
[AE%) 1 &:500,00H ~ 2%&:175,000H  337%:100,000H  43#%&:75,000H 53 :50,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
TS e al 126. -1-2- . - A (&)
1 8 9 O— I\/\’fj)ﬁ“/ 3 56.0 1(2_6)9 1172 9.9 3 (‘121?; lj\ﬁ%xm
RIVZIRI—ZZRI— BTIUYFLYUVaY LEYS
. - BRER 29, -4-3- . = hiEZEth (S0)
Y : M= E =P 3RS R IR P | tmas
RiUFAVF4—X 8P~/ JaI)L FRE®S
— 8 | HKEWFE 1:27.4 -2-1- . - RECHE (FH)
3 6| =1 —hIF— " #55.0 a1/ L 1 ?,;3) NERA
RiIvVIIWRry s By by bR /— BERIY R
5 0 ap i) : F5-5 = RECE (BH)
ilgls| 717 LY1ES— # 7 | oA 1.(217).6 6-5-5-4 | 40.1 5 528;1 gl A
RiI—5—=Iv T BFAT7 LA ISt
S > 4 4 | BEE 1:27.7 7-7-7-6 | 39.9| - 7 405 | BHpeE— (&5
555 1T9AIDFF *52.0 72 oy |mEEE
R:O—IVIUY B:T4—=)LTU—U— BHBUS
JE » 8 7 | FREER 1:28.1 3-3-4-5 | 40.7 | — 4 505 | TEREE (B4
cB 3 7RUSILE— 5.0 6 o | vz
Rib—tYITSA4 5 B:b—EIYT7A47 AR IRXTAT7—LA
— _EHE :29. -6-6- 9| - EEEE (=5
7B 2 | ROFADTSX R o &’ reer |43 ° (4353) IR
RIAEIWN—T BT —Y IR BHEZRIY K
= 4% 5 | LIEHES 1:30.1 9-9-9-8 |41.6| — 8 439 | FAOA (S30)
glzl7|F=/nF 54.0 o oy | KRR
RINAT—H—L B:HISYRIYIY B 3z
= KEHSED :32. -8-8- . - #IRE (FH)
91111 IJIIWF 4 \—IU 4t 4 %) (19?:(2;) 8-8-8-9 44.2 9 (4+6£) F‘jﬂ{i@ﬁ =
RiALYISvoEl B:FOTzy—5404Y J=IVRFZ vy TFhVIN=—

@ 1—F—&BIENL

13—7F— [9.6,3,2,4,8,5,1,7
20—F— |9.6.3,4,8,2,5,1,7
30—F— |6.9.4,3.8,2,5,1,7
43—7F— |9.4,6,8,3,5,2,7.1

@ IRE
B B 9 690 | | DA R 4-9 3603 | | # &= 4-8 580F3 | | 3:=& 4-6-9 720/
& B 9 150/ 6-9 3803 | | &5 = 4-9 1,070M9 | | 3:=& 9-4-6 8,970MH
4 110H 4-6 140 | | /5 & 9-4 2,740M
6 100M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



